=
o
w

o0 X) (um)
3,

o(d x) (um) for PV

10°F

o(d x) for merged vertices (um)

L # :
A #‘H++4‘* 1TT
. I H: N 1 ] : : : ] : ] :
09015 -10 =5 0 5 10 15 20 =20 -15-10 -5 0 5 10 15 20
Vertex z (cm) Vertex z (cm) Vertex z (cm)

éIVI TT mKl—it-UéM original-0

Ratio
Ratio
Ratio

N

M_TT _mkFit-DOM_original-127
M~TT —mkFit-DOM_updated-127

10°

a(0y) (um)

10%kE

a(dy) (um) for PV

10?
10 o

o(d y) for merged vertices (um)

Ratio

Ratio

Ratio
=

—t

[y
T T T T

+
b

! it

-5

Vertex z (cm)

10%|

0(0 2) (um)

10°E

a(d z) (um) for PV

10%

o(d z) for merged vertices (um)

____________________ W#M*#ﬁ i

0 15 20 10 15 20
Vertex z (cm) Vertex z (cm) Vertex z (cm)



	Contents
	Page 1


